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2. Find if the following series converge or not. Show all of your work
and state which test are you using

2 S-St =(5) 2

W Fse bz }
n=0
[4]

n! 20 use
n=o

| O T
KaTlo TEST: = =% :
& N

h+1

0. A
A+ ,q"|

l! - ST
2;—! =5 WJ 7 Z;H-l =0 : SD Zﬁ, /]
% 3 ] h=a

. (DNVEDGES
i
A A( g)eu MusT

b)g{{m—l] . 5ce

—2 D] SfmCE
I'| b
LAy

Also CONVERGE

QDOT TEST !

4] \)"er:_ ) Lafii Lhe,——éi
3
bup So THE StERles comJEpGes
\ 8, 20. LonPriison 1
)ESn(2+cosn) kit CO e
(3]

gince Mttosn £3
in L
!&h Z

. =151
g Vor
lH-ut, 2. DlVERGEs Also

e

Bpiabe 3‘[5‘?2_‘9“ e 2L,
(p seiet i pata

DlVER G ES



ER -2)"
3. a)Find the radius of convergence of the power series E(—l)"’rl L& Tl
n=1
and show that the series converges conditionally at one end of the interval

of convergence and diverges at the other.
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b) Let Ea" (x—x,)" be a power series with a positive (finite) radius of
convergence R. Show that if the series converges absolutely at one end
[5] of the interval of convergence, then it must also converge absolutely at
the other end of the interval of convergence.
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4. a) State the part of the Theorem on Integration of Power Series
that refers to definite integrals.

b) Show that the area under the graph of the function x2sinx and between

x=0 and x=1 equals to
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(1,042) ,1=0
quadric surface given by 2> =2x%+y”.
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5. Let r@)= 1€ =

a) Classify the surface and draw a rough sketch of it by first drawing
two dimensional pictures of the traces in the planes x=0 and z=2 (or z=-2).
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c)Is r(t) continuous or differentiable at =07 Explain.

3] Nzl ) =~ > ~<i o (T3 =)

s
BMD So () is NOT COMTINUOUS AT t=0,
-y o T

3 is NoT DIEF AT t=O_s{|uc5 T IS

colLTI NuouS



Nina

Nina

Nina




